3apnada B. lenex sa6nok - 1

N LWWKOJIbHMKOB AenaT Kk 16,10k NoOpoBHY, HeaAensatiownmncsa oCctaTok
OCTaeTCs B KOP3UHKe.
CKONbKO 610K AOCTAHETCSH KaXXAO0MY LUKOJIbHUKY?

BxoaHble AaHHble
[IporpamMma nosy4dyaeT Ha BX0OA 4ncna n u kK - uenble, NoNoXuTesibHble,
He npesBbiwatoT 10000.

BbiXOoAHbIE AAaHHbIE
BoiBeanTe OTBET Ha 3ajaudy.

1 cnocob 2 crnocob

[TpnmMepbl

BXOAHbIE AaHHbIE var n=3; var n=3;

3 var k=14 var k=14

14 /% - ocTaToK OoT AeneHus var answer=Math.round(k/n);
/Ivar remainder=14%3;//2

BbIXOAHbIE AaHHbIE var out=(k-remainder);//14-2=12

4 var answer=out/n;//12/3

/Ivar answer=k/n=4,....

function separation_apples()
{
var n=1*prompt("input the number of pupils");//n=3
var k=1*prompt("input how many apple did they share for the one pupil”);//k=14
var result=(k-k%n)/n;
document.write(result);

}

separation_apples();



